2000 = =0l & 2 BHa A

SH: HSXED
e NYHS SL(SF}L2L/HK)
CHel: MERSNE

A

SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Egﬁ HwsZ
S 14,420,065 12,241,158 2,178,907
| 173,646
= 1,322,927
Al 12,923,492
NLHSE S (SSLDZ/HS) 5,086,897 5,304,543 ~217,646
| 173,646
= 322,927
Al 4,590,324
MEHSHE 911,007 742,900 168,107
| 173,646
= 24,578
Al 712,783
MBS S4 494,270 411,800 82,470
201 gr2gy| 8,940 9,700 AT60
01 A2zl 8,940 9,700 A 760
O1. 2Bt 8| 6,000
“HSHZ R ALY 4,000,0002 4,000
Hges 2 2,000, 0002 2,000
O5. 22| 2,940
“HSBY ARFF ZA
7,0002 ¥5 % x72 #1224 2,940
202 01| 5,040 5,040 0
01 =Choid 5,040 5,040 0
OMSHY 2= 0iY|
60,0002 42 x32 +73] 5,040
301 YsrPAZ 205,290 191,060 14,230
10 SFAAEEAS 205,290 191,060 14,230
OTCHl Zoje!l MSCHE &t 17,700
~SHHI (DS, AU, IIE S) 8,000, 0002 8,000
2% 5,0002 x200% 1,000
M Y AR |UB 50,0002 * 1602 8,000
~SANHMNE LX) 700,00024 700
OF= =0t MM &IHHY
60,0002 x30% 1,800




SN HSXE D
Hu: NYHS SL(SF}L2L/HK)
=

el MEHSHE (el & 2)
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- (=] - T - = S = o = 0:”/&,% Wsa
R EENEE R EERE ST
60,000& *x30H 1,800
OZXAD| &2 MEH=sE EIHE ] 46,750
A== 50,000 x25H 175 = 21,250
-4 4l 60,0002 *x25Hx17E = 25,500
OZ0IMEY =3 SN8AY| 70,000,000& 70,000
OZENESHLUHE &HAHHI 11,100
-HEs 50,000 *30H x13] 1,500
-4 4l 60,000 *30H 3L 5,400
-SL3 40,000& *30H *13] 1,200
-=&| 20,0008 x30H x5 3,000
Od202hMdEHsUla =83 11,000
A== 50,000& x100H 5,000
-4 H| 60,000 *100¥ 6,000
OAlZUE L2AHOIEE ZIIAHI 10,600
-ME=S 50,0002 x20H 1,000
-4 dl 60,000 x20H 83| 9,600
OMasUa AL SAHS
7,000 *30H *30JH CH &l 6,300
OAl NEY Hdetlia &018H B4
60,0002 *8H*33MNSH S 15,840
Od=2 Hoel d=tial =t
60,000 *20H 23| 2,400
OXd=203 =otA-| 10,000, 000& 10,000
307 ©GI2t0| M 275,000 206,000 69,000
02 QI2HAAMNEX 12,000 0 12,000
OfYA I PARH 12,000,000 12,000
04 BQIZ2FSHAIE X 263,000 206,000 57,000
OEXAD E2% MBHSO HEAY
20,000,000& 20,000
OAEI| MEds 2l HEAH
4,000,000 *30HCH 3l 120,000
O&E20 MEAH=S HARZH(XNEoA)
10,000,000 10,000
Q2009 e NES M3 JHNEF Y
10,000,000 10,000




SA: HMSNADL
M NS SC(2JLBZ/HS)
=

el MEHSHE (9l &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OXOHEZAIZE MEMFUE N
6,000,000&*3ME = 18,000
O&= AIZEMe 572U3 5,000,000& 5,000
OHMI173 SSMs22REH2AI| A0IMEF)
= d2SAFIIUE 20,000,000 20,000
OLXLSELEHIIE 2 HEEWHS
45,000,000 45,000
02009 LSEAIQ SHOLS AtEECH 3
15,000, 000& 15,000
MEHSEO S 29(EX) 45,000 45,000 0
= 2,000
Al 43,000
307 QIZtolA 45,000 45,000 0
== 2,000
Al 43,000
02 OI2tFAYE X 45,000 45,000 0
OMEE8os e 4 29|
45,000,000& 45,000
< 2,000
Al 43,000
MEHSX S XA (BX) 188,352 164,640 23,712
J| 94,176
Al 94,176
307 QIZtolA 188,352 164,640 23,712
| 94,176
Al 94,176
02 0I2tFAE X 188,352 164,640 23,712
OMEMS K = XH(RI21d])
1,744 0003 x9H 128 188,352
J| 94,176
Al 94,176
MEHEWARA(EX) 38,929 25,621 13,308
J| 7,242
= 5,069
Al 26,618
307 QI2t0IA 38,929 25,621 13,308
J| 7,242
= 5,069




SA

X{ ZH -
S =

X=X ot

Ngxs 24(238
s

el MEXSNE (sl &
SN (B) - MBEAY - B2 Aol Soe HRZ2
307 QIZ2+tol A Al 26,618
02 OI2tFAE X 38,929 25,621 13,308
OMENsn 38,929,000 38,929
J| 7,042
o= 5,069
Al 26,618
MEXN I EANY 29,052 34,099 N5,047
J| 14,526
& 4,354
Al 10,172
307 QIZtoIA 29,052 34,099 N5,047
J| 14,526
& 4,354
Al 10,172
02 QI2HEAME 29,052 34,099 N5,047
OMEHIZ 29,052,000 29,052
J| 14,526
T 4,354
Al 10,172
Heddsgs Al 62,784 61,740 1,044
J| 31,392
Al 31,392
307 2I2tolA 62,784 61,740 1,044
J| 31,392
Al 31,392
02 QI2HEAAMNEX 62,784 61,740 1,044
ooza Hs
1,744 ,000& *3H x12& 62,784
J| 31,392
Al 31,392
HSHRSHAML (2 52,620 0 52,620
J| 26,310
= 13,155
Al 13,155
307 QIZtolA 52,620 0 52,620
| 26,310




SH: HSTHHD
R

Gol: MEASAS (sl &

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 QI2H0IH < 13,155
Al 13,155
02 2HAEX 52,620
OMSHISHAIEAS 52,620,000& 52,620
J| 26,310
< 13,155
Al 13,155
d2HEsd 3,057,286
= 298,349
Al 2,758,937
NgesAI| 2 (ML) 2 2,047,286
= 208,349
Al 1,748,937
301 etEazs 2,047,286
L= 298,349
Al 1,748,937
1 st - 2s2S = 2,047,286
OXEEA HNE2sED =25 822,070
-5 2,180,800 x3H x12& 78,509
-3 Xl 1,878,000 x3ZE 123 67,608
-Hd=(5)2 2,512, 1003 x6H 12 180,872
-d==(A)= 1,851,900& 158 x12& 333,342
= 298,349
Al 34,993
-&==(B)= 1,545,200 x7H * 12 129,797
-d=(0)= 1,330,900 x2H x 12 31,942
O&dZ2=H 54,808
-5 2,180,800& *3H+0.8 5,234
-3 Xl 1,878,000& 3% 0.8 4,508
-Hd=(5)=2 2,512,1002 «6H*0.8 12,059
-d=(A)= 1,851,900& 15K +0.8 22,223
-d=(8)= 1,545,2003 x7Z +0.8 8,654
-d=(C)= 1,330,900 x2H 0.8 2,130




S M2

F: JgHE sS4 (2sL2Z/HK)
¢ dEHs=sd
SN EY O (BH) - MRAY - BLS 01l & o e

OIHA XA bl 137,289
-4s 2,180,800& *3H *0. 167+ 12& 13,111
-3 Xl 1,878,000 x3Z 0. 167+ 12& 11,291
- (5)3 2,512, 1002 «6H 0. 167+ 12& 30,206
-H==(A)= 1,851,900 x15Y +0. 167+ 12& 55,669
-&d2(B)= 1,545,200& *7H +0. 167128 21,677
-&=(C)= 1,330,900& *2ZF 0. 167+ 12& 5,335
O&E=¢ 6,240
-t = Xt 40,0003 x5« 12& 2,400
-2 2AIF 20,0003 x16H +12& 3,840
O=clZ=44| 184,020
-SE2xXH 130,000 *36H * 12 56,160
-ANZ8Xd 71,700
Zd=.2 250,000 6 H 12 18,000
T 155,000& *21H x12& 39,060
Hda B 140,000 *7H x 122 11,760
cHd=C 120,000 2+ 12& 2,880
-= 4| 130,000 *36H x 12 56, 160
Osd=¢ 121,200
-24=,32X 150,000& 6 H = 12& 10,800
s E3 500,000& x6E x12& 36,000
- A= 300,000 15 «12& 54,000
-8 B=2 200,000 «7H x 122 16,800
- C2 150,000 2H *12& 3,600
OXNE=2 (& 400,000& x6ZE x12& 28,800
OXtd st == 2,507
-=&n 51,4003 x4 Z 43| 823
IS8t 420,790& x 1 x4 3| 1,684

Osg2xg(=22
,500,000& *»4H x 123 72,000
OYESOtdl 82,210
245 2,180,800 *3H *120% 7,851
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A
X XH .
(=

chel:

X=X ot

AgHs 54

dEMEsd

(238

ok

/HIF)

L RE-E

- SHRI(EAH) - NEAY - BE=

22
J2

T
B

o
1

-

il

o
1

@

n |
h(; >
= 4
NS

O O
10
1>
rz

O O
tm
i)l
oy

A
04
HO

O
A
04
H0

O
A
04
[0

Jm
w

i

OR
e
for

1
02
©°

O
0
=

O
0
S

O
X
S

=

il

it

Bl

it

X-IE_I) in

1,878,000 3% 120%
2,512,100 x6H x120%
1,851,900 15 120%
1,545,200& 7 x120%
1,330, 9003 »2H 120%

60,000, 000&

20,000,000 «3H
1,545,2003 9 x4

2 IHMUa =83

2,500,000 16H

e 2E Hal 83|

53,5003 x36H 62 *4 2]

o2 ™I =&l

53,500 *36& «30!

o g syl
2

1,500& *36& «50!
2,000,000&

3,000,000& *13

2,000,000& *12]

60,0003 *3H 3 43|

ONFL2SHIIL(REY) I=(HU) 2Y

200,000 *16H *13]
200,000& x16ZF «13]
180,000& *16ZH 12l
150,000& *16H *13]
200,000 *16F *13l

180,000& 16 * 13

S(&d) 7
200,000& »9H 12|

200,000& x9& 12|

6,761
18,088
33,335
12,980

3,195

60,000

60,000
55,628

40,000

46,224

57,780

38,700
2,000

10,800
5,000

3,000

2,000

2,160
17,760

3,200
3,200
2,880
2,400
3,200
2,880
10,940
1,800

1,800

B
2

=2




S M2

M UHS S (SHLDB/HS)
ol MeSHSSY
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Off &F oA il ot o
o= 80,0002 *92 *13] 1,620
-Fol= 10,0002 ¥984 13| 900
ry= 200, 00021 9% *13] 1,800
~Z Y 180, 00024 *9% 13| 1,620
~EH0I = 1,400
'8 1200002 72 13] 840
"AE 80, 00021 +7% +13] 560
ONFSSYIIL(SHE) I=(ZH) 7Y 1,785
3 S = 200, 00024 *1124 %13 2,200
~T}3t 200, 00021 #1124 %13| 2,200
e 180, 00021 %112 *13| 1,980
~RUEB (4,5 50,0002 %112 +13] 550
~EH0I = 1,035
= 65, 00021 +9% +13] 585
TAE 50,0002 +9 13| 450
-x23 180, 0002 +02 * 13| 1,620
-3 513 200, 00021 2% +13] 400
e SiE! 200, 00021 +92 13| 1,800
ONFRSHIIT 2| 55,200
-REE S4E Y 29|
1,500,000 *38 * 122 54,000
ctel YOIER 2| 10,0002 122 1,200
ONFSSAIL H48 IF RN
300, 0002 *2CH 122 7,200
ONZ2SHIRT H4H BHh S Uy
Hl 1, 18521 %1202 +BA| 2 x4CH 4,551
ONF2SAIIL ARA RX 3223
20,0002 %122 2,400
ONFSSYINL H4C 52 L HBIZ
W 100, 000! *30% *23| 6,000
ONF2SHIIR M4 BHPY L 2K
Hl 42,014
-ZHE FIIB(FYS HB2E) 7Y
29,870,0002 29,870




SA: HMSNADL
M NS SC(2JLBZ/HS)

o

ool M2HSSA k)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
-XFE P AE ARE WA
3,000,000%! 3,000
XY 2B REEE NUI(ALR)
1, 50021 %8A| 242002+ 1CH 2,544
~AlQlEl Chel ojotE E0IE e
300, 0002 #122 3,600
“REE 2 YR 800, 00021 +32 2,400
TS UE AT Y M UAE 600,0002! 600
TN WSS 29 950,000 900,000 50,000
307 21201 H 950,000 900,000 50,000
VECEIEPTES 350,000 300,000 50,000
OSOIMSHE HHl SEXRY)
100,000,0002! 100,000
OS4a64 gl ¢ 212 gl
250,000, 000! 250,000
04 OIABARE 600,000 600,000 0

400,000,0002 400,000
OBY= 2|
200,000,0002 200,000
SDHS S4 60,000 50,000
307 ©I2H0 30,000 30,000
EIEIE: 30,000 30,000
Ostn. &l ST
10,000,0002 *37H £} 30,000
308 TxIE 30,000 20,000
06 n=Jl2 30,000 20,000
OB DHSSH (B ads g
2) 30,000,000 *14} 30,000
Wel AZx nE 1,118,604 1,373,930
HIRQ MK HE L | 1,107,988 1,373,930
201 Ysed 20,768 22,160
01 A2 6,768 7,160
Of.pt 4,500
~ATEED 48| 4,500,0002 4,500
05. 22| 2,268
el @ 34
7,00021 +3% 492 122 2,268




fAM: MEXA D

B YHE S4(2HUDB/UK)
@ U AZx NS (23
_ _ _ Muo
SNBSS - MEAY - BES 0l &k o4 e HlnE2
03 A2l 14,000 15,000 A 1,000
OMsdAr2te =2l 5,000, 000& 5,000
ORE HHAZ U & &= HMsUz
1} s

2 =24 9,000,000& 9,000

202 Oddl 4,320 4,320 0
01 =2UWnHI 4,320 4,320 0
OA8 AZ=MU3 R X PR 04
60,000 *3& 4L 63 4,320
301 Et2a=3 2,450 2,450 0
10 AL HI2a = 2,450 2,450 0
O2AE M=sla XNFARA(EMSA S) =2
= 7,000 *50H +72] 2,450
307 QI2told 1,080,000 1,245,000 165,000
02 QzIAAMNEX 200,000 200,000 0
OXNGE2=RE (ZgALHA) 245 X
el 200,000,000& 200,000
04 QIZSHAIE X 880,000 1,045,000 165,000
020098 &4 d= .4 S - 18su =
CHMA 120,000,000 120,000
OHMN9zl S€J/& EetolHOtet=HE
100,000,000 100,000
Od=4agAN R3] 50,000,000& 50,000
Od= AATIAENUZ 30,000,000 30,000
02009 2/ &H M= S 91 Hl HHATHE
40,000,000 40,000
02009 Z2Iotd =HREHS
120,000,000 120,000
02009 £& IM LEHEE O Zs
150,000, 000 150,000
O3 &d=2+L Mstz M=
100,000,000 100,000
O&= HAT el 170,000,000 * 14! 170,000
405 AHaHRE SH 450 0 450
01 A =SSFHSHI 450 0 450
OCIXIEJtolct +& 450,000 = 1CH 450
=Mt |X X W 10,616 0 10,616
201 et 7,016 0 7,016
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fAM: MEXA D
M NLEHE 24(2
SRl IRl AX= W

_ _ HE T
SH BB O(B) - NRAY - BAR Ofl &F o8 il i~ o Hn=2
01 AtR2el] 7,016 0 7,016
O1. 284281 5,000
-EHERAE Lo 5,000, 0002 5,000
Os.22H| 2,016
-SHE =6 2 Duee 34
7,002 522 » 122+ 128 2,016
202 Oft 3,600 0 3,600
01 =UHofbl 3,600 0 3,600
O2HMU3 KX L YRF o]
60, 0002 522 552 +63] 3,600
HSNYSH(SSHLZB/IS) 8,905,786 6,581,839 2,323,947
= 1,000,000
Al 7,905,786
HMSAE =4 7,759,523 6,037,456 1,722,067
= 1,000,000
Al 6,759,523
HEALE |22 60.268 78,120 A17.,852
201 Yer2 | 7,568 5,420 2,148
01 AtR2el] 4,268 3,620 648
o128+t 2,000
-AgRel Yers 2,000, 0002 2,000
Os. 22| 2,268
-HSAgzE YRFD SA
7,0002! 532 592 » 128 2,268
02 BT 3,300 1,800 1,500
O1.3Z22LHA 3,300

-253 HE3d 3323 (8J,.+k)

150,000& « 122 1,800
223 Ms3E tHa3H 282
1,500,000 1,500
202 Oddl 2,700 2,700 0
01 =2UWdbl 2,700 2,700 0
OMSAI& 2 JRFE 0
60,000 *x3& 3L 52 2,700
401 AIEHIZ =20 50,000 70,000 220,000

01 Al&HI 50,000 70,000 220,000
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S M2
A ASUESH (2L 2Z/AF)

S9 HSAE X4 (S5 @)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SEENEICHEE] 50,000,000% *14] 50,000
ITHENL =5 1,878,175 1,334,230 543,945
308 XXIEHSOIH 920,000 400,000 520,000
e VETEES] 920,000 400,000 520,000
OQHSHESSD AXRL ZHBA
120,000, 0002 * 144 20,000
OBESstn 55 QUXTL EHBA
400,000, 0002 *14] 400,000
OUSESED 25T AXN0 TLBA
400,000,00021 *14] 400,000
401 Al&BI L2 958, 175 934,230 23,945
01 AlZH] 952,020 929,370 22,650
OoYE SUSSE A U H4E &R
A 105, 110
~ & Al ] 100,000,002 +5. 11/100 5,110
~Al & 100,000, 0002 * 14} 100,000
OSHS HOESH THAL(EX L)
20,000,0002! #141 20,000
OSHSE 25T =28 LIS
20,000,00021 #14] 20,000
OJI2 222 MEAL SXBA
20,000,0002! +14] 20,000
OSHES OHXIX L& HMSAE SXIBA
20,000,0002! #141 20,000
O SH2l WSIY ZLTM 26,910
AL A& A b 900,000, 00021 +2..99/ 100 26,910
OBEES ZA2T 20 LXBM
50,000,0002! #141 50,000
OF ALBIANYL AS 22 150,000
~ & Al ] 144, 189, 0002 4.03/100 5,811
~Al & 144, 189, 0002 14! 144, 189
OHES Yaw ASAE FUIZA
20,000, 00024 #14! 20,000
OHBIH HOESH HXBM
20,000, 00024 #14! 20,000
OXE RENRZ(ESAL) SXBM 500,000
-8 Al ] 485,484, 000% 2,99/ 100 14,516
~Al & 485,484,002 *14] 485,484
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S M2
A ASUESH (2L 2Z/AF)

ool MSAE X4 (EHo &8
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
03 Al&=CHHI 6,155 4,860 1,295
OMSAIEAS A& LI
430,000,0002 0. 72/ 100 3,096
ORS QEHNRZ(ZEAIL) SXTA A
SVl 485,484,000% x0.63/ 100 3,059
NS WH202 HSAE X4 151,080 0 151,080
401 Al&HI LY 151,080 0 151,080
01 Al&H] 150,000 0 150,000
ONUS HH20IS MSAE ZHALY
150,000, 0002 14} 150,000
03 Al&=CHHI 1,080 0 1,080
ONHS HH2I0IS MSAIE ZHAY Al
220l 150,000,000% 0. 72/ 100 1,080
ZH2EH NETSAY 4,000,000 500,000 3,500,000
401 Al&H LY 4,000,000 500,000 3,500,000
01 Al&H] 4,000,000 500,000 3,500,000
OZSH2SH A& ZLAMY EXHAYI
4,000,000,0002! * 14! 4,000,000
ZHRCMSUHAY (RE) 170,000 1,948,192 A1,778,192
401 A&HIZS Y 170,000 1,948,192 A1,778,192
01 Al&H] 170,000 1,915,910 A 1,745,910
OZBHMSUE FUHE ¥ S2LX M|
170,000, 0002 14} 170,000
OFREAY (2 X) 1,500,000 0 1,500,000
= 1,000,000
Al 500,000
401 Al&HIL=HY 1,500,000 0 1,500,000
= 1,000,000
Al 500,000
01 Al&Hl 872,461 0 872,461
OZBIOFRE AYBA 872,461
DIEH(NEHEEE) B
50,000,000% * 14! 50,000
-DEYEBI} 2 70,000,002 * 14! 70,000
-NESAY AERY 40,000,0002 * 14! 40,000
-THoH 2 & ® 0t 2 50,000,0002 * 12! 50,000
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S HMSAD
Ha: HSMYSH (2L /HS)
ool MSAS FA (chel @2

_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
YT 662,461,000 *14] 662,461
= 500,000
Al 162,461
= (2,500,000, 0002! )0 0
02 Zaltl 619,000 0 619,000
OZs OFRE AYTA MB A2 Y|
10,000,000,0008! +6. 19/100 619,000
= 500,000
Al 119,000
03 Al&STHY] 8,539 0 8,539
OEBOFAE HBA ALY
3,162,461,0002!%0.27/100 8,539
=R 2Y 1,146,263 544,383 601,880
=" R 1,146,263 544,383 601,880
101 Q1244 72,895 43,629 29,266
10 JRIHN2ENER+ 72,895 43,629 29,266
OSHAUMSZ 22l o=y
33,5002 x2% x200 13,400
OIS HE el ose
33,5002 28 x2002 13,400
ORCl & +2 HF ARY
33,5002 *38 +42! +33] 1,206
OFIIZFH STHZE L ORI 22y 5,829
EEaT= 33,5008 82 x62 +33] 4,824
&R 33,5002 +3% 52 +23] 1,005
OQIHACITE HE & HCOIAI| 2 2,412
HIE R 33,5002 x4 +4 2 +33] 1,608
&R 33,5002 *3% 42 +23] 804
O4U2E JlBRYD 36,267, 0002 *9. 45% 3,428
OZ8AIIZ S MSAL #AFY, T
el S aRY (UKt BE) 33,220
~olsrg| 200, 0002 x22% 72 30,800
-28 U 2P| 110, 0008 222 2,420
201 Lpr2gy| 288,793 232,256 56,537
01 ARzt 88,600 52,320 36,280
O1. Y48 67,340
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0l <+ ~ 3 ~ O ~ o o OF OF 1A OF = =
0 M <F RO Ell g0 R0 = = = = <k K0 = o =0
= S w0 D ) o oD al al ol <+ ~ Rrr al = M
T o = Ko oo g Ko K K0 rr rH %0 R0 ol . -
KO I I I I I I I I I I I I m4u m_.w
z
I+

20,257
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FM: HSXAL
FH: MSULSH(2SL22/HS)
Crol: ESIAIIE 29
SA BB CR(SH) - NRAY - A S Ol o e
O1.2223LAA 158,980
-N3tRs 350,000& x12& 4,200
-3 131,760
TEEZEIE 8,000,000& »12& 96,000
TEAUMSS 1,300, 000& «12& 15,600
coleE 80,000& ~12& 960
TEMY =X 300,000& = 12& 3,600
TSHHEHERE 300,000 *12& 3,600
" 2K 1,000,0002 * 122 12,000
pEXY 28 U AANLLE
700,000& * 12l 700
“ZAJA HEAME BEZ 100, 000& 23] 200
-get2telt & IgS 22l 3]
100, 000& 4 x13] 400
“EAONA AE = 600,000 * 123 7,200
-AoteE MEE 600,000& =122 7,200
EAY DART 24U A4 23
150,000& = 12& 1,800
“WERLREES 350& *9,483m* 3,320
—SEMNEHRES 550, 0003 *2JH A %23 2,200
O2.9 =4l 7,862
-SEEJIE ARA A=Y 4,922
TER 1,470& 1,800 £ 2,646
23| 1,185 *8Al 2tx20H x 120 2,276
-SHAUMSZ A=Y 2,940
TER 1,470&*2,000 £ 2,940
O3. A8 &S XYl 30,110
-HIagEI| |G 2,000,000& = 1CH 2,000
-AYAIE SAlZ2l 500, 000& *3JH & 1,500
-&J|E AM&EHl Rl 5,234,000& 5,234
-d == Al 21,376
Sgsd 555&+17,608 M’ 9,773
ZEHs2 555&%10,019m’ 5,561
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SN HSNRD
i HSULSH(SHLDR/HS)
ool BEAIIE 29 (5l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F K Ol AF o8 Hws2
TR 55521 +5, 158 2,863
CAARE 55521+ 1,726 958
=k 555212, 4161 1,341
CEHAUHS 31622, 783 880
O4. 742 o Bl 3,241
-2 E32(1€ 0I5t 3,241,00024#1CH 3,241
202 Ofl 6,600 6,600 0
01 =LHoit] 6,600 6,600 0
OFII™ 2g2el VL)
60, 0002 *42 x4 2 453 4,800
OUDHMSAL =T 0iH|
60, 0002 22§ x32 53] 1,800
206 &bl 19,190 17,080 2,160
01 M=l 19,190 17,030 2,160
ONES ST TP 3,500
e ASTY 60, 00021 204 1,200
-~ RETY 1,5902%1,000 £ 1,590
~HIQI £ (201 T 44) 40,0002 +20 800
OZYMSHE DRB 7Y 1250008 =607H 7,500
O Z YA 130,000 %202 2,600
O=73Y 7 200,0002 64 1,200
Os73Y 3¢ 10,0002 +304 300
OFZWETUH S 4,000,0002! 4,000
01 YsrzaZ 6,388 6,740 A352
09 ZUDRABHS 6,388 6,740 A352
Oz22ed 6,368
I 83,0002 22+ 122 2,112
-S| 5, 00091 22 x222 » 128 2,640
DS 2,000% 22222 * 122 1,056
-l =l 130,000 %23 +23| 520
~S Rl B E | 15,0002 +22 x22 60
307 eI2t0IH 30,000 20,000 10,000
05 DI2ISIE3 30,000 20,000 10,000
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fAM: MEXA D
M HMLdL(2L2E/HS)
Crol: ESIAIIE 29 oL
= X xH cCtel (s = A HA X2 A} OH X‘—-IL‘EL‘:— =2}
— T

30,000,000& 30,000
401 AIEHIZL =204 679,447 206,328 473,119
01 Al&H| 676,000 205,500 470,500
OFetdII& &0 R 2
13,000, 000& x 1Al 13,000
OTEZIE =588 L 9o A
10,500,000& * 1A 10,500
OdINEANEZE RNES 30,000,000 * 1Al 30,000
OESaLl=HE AAIE HUISAt
4,500,000 * 14! 4,500
OLEStAILIMES2 ABAIE HUIZ2AH
20,000,000 * 1Al 20,000
OaUll==& Xlot AIES 2 W XIS At
20,000,000& = 1Al 20,000
OABIZS2Z pro-lane(HHE) DM 2 A
250,000,000 14 250,000
OaUMsS2 g==3 Al 25,000,000 x 14! 25,000
OMEsAESE RAES 1,000, 000& *10JH 2~ 10,000
OZTEEINE 22 FE2UHSA
20,000,000& * 1Al 20,000
OSEEINE S34 HIHEY WHSA
8,000,000& * 1A 8,000
O UM THEL=SAH
15,000,000& * 14! 15,000
ORSHAE 482 ZTHIE AXHC0 B
M-S Al 50,000,000& 50,000
OF&EINE HEZ OtXl XIS At 100,000
—& Al & HlH| 100,000,000 *6.06/100 6,060
-Al &t 93,940,000 * 1Al 93,940
OFEEINEU A2t WHS A 100,000
& Al E AL 100,000,000 5. 11/100 5,110
-Al &t 94,890,000 = 14! 94,890
03 Al 208l 3,447 828 2,619
OMEAIE X - 22ISAF AIE20id|
360,000,000 *0.72/100 2,592
OSEEINE S AF AIE201H|
94,890,000 *0.90/100 855
405 KHaHE S H] 42,950 11,800 31,150
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SN
X XH .
(=

chel:

02

ZE - (BH) - NRAY - BaS sl e HlRE2
MRS SFH S 42,950 11,800 31,150
O=8HsdH =35+ 42,950
s 30,000,000& *12= 30,000
F L CH 1,000,000 *6CH 6,000
COIE X = 650, 000& 9= 5,850
X = 1,100, 000& 1= 1,100
HI (M= X&) (J1EHDJIE) 427,382 354,776 72,606
M= X&) 364,737 299,911 64,826
A2l 172,108 133,570 38,538
Falsll 167,068 129,790 37,278
A g A 6,240 4,680 1,560
EEE UG A 130,000& *4H x 122 6,240
=2 | 5,760 4,320 1,440
AZE WSS x| 120,000& *4H x 122 5,760
EF Ot 8,119 5,063 2,156
2IE BEFIHI 81,183,000&*1.2/12 8,119
06 JHAIXI&H] 13,558 9,958 3,600
A3 E JHAXI A 81,183,000 *16.7% 13,558
JtE &I 3,834 3,147 687
HAIE 24 81,183,000 *17/360 3,834
08 JIEtAE = 129,557 101,722 27,835
2EE 129,557
-2 1,691,300 *4H x 123 81,183
2= 81,183,000& *0.95/12 6,427
-tEad 2,880
bH < Kt 40,0002 *3H « 122 1,440
SAIE 20,0003 6E «12& 1,440
PUELEE = )
420,790 x1H »42] 1,684
TEY 30,0003 1H«12& 360
2ag I3 4,200
°20~25¢ O|gt 110,000 1 x 122 1,320
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22X X
mMa: #ESAHY (AKX D)(OIEH/IIE)
chel: ol Ay (MSXAD) Rk
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- (=) T - = S = o = 0:”/&,% Wsa
°15~20 0O et 80,000 x3H x12& 2,880
~EWU2R4Y 32,823
NELE LR
6,342 3 4 x50 Al 2tx 12& 15,221
ORI 2REH 16,9122 23 «365 12,346
s29422G 47 7753 x1H %110 5,256
204 AL AH| 5,040 3,780 1,260
02 ZZE=XH| 5,040 3,780 1,260
OJFAHE AZEXH| 105,000 *4H x 12& 5,040
2MhES2HY| 192,629 166, 341 26,288
101 Q14| 186,029 160, 341 25,688
09 RIAHAZZXE S 186,029 160, 341 25,688
Osta0|ss 90,660
23 1,061,960 x2H x12& 25,488
|G 1,631,960 2% «200% 6,528
-dZ2sE 1,631,960 »2%H *180% 5,876
-HEcta | 1,631,960 2% «250% 8,160
-IEE 3,000
* U AF 40,000 x2H x12& 960
CREUIIIE 20,0003 x6H x12& 1,440
SOILE (AR OF 0] Ah)
50,0003 x1H «12& 600
—MAXH Y 70,0008 x2% «12& 1,680
-S4gniy 90,0002 +2% * 122 2,160
-H o Z A 160,000 *2 * 1224 3,840
-JIAH 2 X H| 110,000 x2H x 12& 2,640
-WEE XY 140,000 x2H x 12& 3,360
-HAE S| 1,631,960 »2%H *150% 4896
-2HAMY| 5,000 »2H 27 x12& 3,240
A2t 22
11,710& 22 *30A| 2 128 8,432
-§aZ222E 93,7003 x2H x4 x 12& 8,996
-AxRaIEsII 62,470 x2H x 17 2,124
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SN
X XH .
(=

chel:

22
J2

20
B
2

29,0102 x5 300!

725,250 52 x300%

725,2503 58 x120%

29,0103 x5 +5 2 123 x50%

5,440 «6H <22 Al 2tx 12

60,0003 x2H »23]

30,0002 x5 128
60,0002 x5 128
80,0002 x5 128

50,0002 x5 12

29,0102 x5&H »21

29,0103 x5&H »522

130, 000& +5H %23

240

95,369

43,515

10,879
4,352
1,800
3,600
4,800
3,000
4,352
3,047
7,543
7,181

1,300

4,200

4,200

[

[(H&:199)

350,000& 123

4,200

4,200

4,200

2,400

1,800

600

50,000& »4F x 12

2,400

2,400

1,800

600

62,645

54,865

7,780

13,125

13,125

13,125

13,125

e
rD:
s
0
&

gl
k-
1o
i

T

4,020,000&

4,350,000

4,275,000

12,645
8,370
4,020
4,350
4,275
4,275

480

480

12,645

480
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FM: HSXAL
M HHE2ISZHI(MSXAD)(JIEHIIEH
el J2d3 U (M XJDt) (el &)
_ B} _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
-EAE2E 23R 480,000& 480
HRF&HI 47,520 41,040 6,480
202 o4t 47,520 41,040 6,480
01 =2LHOoibI 47,520 41,040 6,480
OFQYRFX 0| 20,0002 *22H 9 x 122 47,520
Tah & 2EF S| 2,000 700 1,300
405 RHAHFE S 2,000 700 1,300
01 XM EFHSHI 2,000 700 1,300
ozpZely 2 2,000,0002! *1CH 2,000
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